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Use engineering paper.  Work only on one side of the paper.  Use this sheet as your cover sheet, placed on top of your work and stapled in the top left-hand corner.  Number the problems at the top of the page, in the center of the sheet.  Do neat work.  Underline your answers.  Show how you got your equations.  Be sure to show how you got your answers.  Each problem counts 10 points.

6.57  easy problem:   (c)    v1(t) =   [k1e-tcos2t + k2e-tsin2t] V u(t)

6.61 v(t) = [10e-4tcos2t – 40e-tsin2t ] V u(t)

6.63    v(t)  =  [12 – 13.75e-1127t + 1.75e8873t] V u(t)

6.64     vo(t) = [16.67[e-200000 t – e-800000 t]] V u(t)

6.67    I(t) = (4.57e-8t  -  0.57e-t ) A u(t)

6.71 Characteristic equation:  s2 + 4x106s + 3x1012 = 0

  vo(t)  = 19.2[e-1000000 t  -  e-3000000 t ]  V u(t)

6x1   Find i(t) for the circuit below.  Answer:  i(t) = 0.727e-2tsin(4.58t) A u(t)
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